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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 100.00 1.00 100.00 1.00 11.90 2.22
2 3 116.12 1.00 100.00 1.00 11.90 2.22
3 4 100.00 1.00 100.00 1.00 11.64 2.17
4 5 76.05 1.00 9.90 1.85
5 6 100.00 1.00 100.00 1.00 10.49 1.96
6 7 100.23 1.00 100.00 1.00 13.34 2.49
7 8 106.88 1.00 100.00 1.00 13.34 2.49
8 9 100.00 1.00 100.00 1.00 13.81 2.58
9 10 100.00 1.00 100.00 1.00 13.81 2.58
10 11 112.24 1.00 100.00 1.00 12.67 2.37
11 12 140.16 1.00 100.00 1.00 11.80 2.20
12 13 140.16 1.00 100.00 1.00 12.23 2.29
13 14 141.45 1.00 100.00 1.00 12.23 2.29
14 15 152.67 1.00 100.00 1.00 14.16 2.65
15 16 155.21 1.00 100.00 1.00 14.16 2.65
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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
2 75.20 1.00 10.33 1.93
3 75.20 1.00 10.50 1.96
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